Equal 9 step grey scaling betweeh* , and L*y, for three reflections of ambient light
L*0N=4.0, L*0U=50.0,L*0W=96.0,Y0N=0.4,Y0U=18.4,Y0W=90.0,CQYZYoinQNZZOS.Z
L*N=46.1,L*y=49.9,L*w=62.1,Y;Nn=15.3,Y;y=18.4,Y;w=30.5,Cy =Yow: Yin=1.9

*
1IE)O+ n0. L*0a L*Or YOa YOr ;L*a Al*ta L*tr Yta (L*r) 12.04(L*tr) 1204 *0r
(D9 90 10 900 10 621 10 305 1,000 0,000
3 3.7
8 845 0875 650 0721 583 0763 263 0873 0,001
33
75T (17 730 075 451 0499 550 0555 229 0,745 0,005
2.7
6 615 0625 298 0328 522 0381 203 0617 0,008
2.2
50+ @5 500 05 184 02 499 0241 184 0491 0,009
j 16
@ 385 0375 103 011 483 0136 17.0 0,369 0,006
3 11
sl @3 270 025 50 0.05;147.1 0065 161 0,255 -0,005
1 0.6
@:2 155 0125 20 0017464 0022 156 0148 -0,023
: 0.3
@: 40 00 04 00461 00 153 0,010 -0,001
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AL*1z=11.9 (i=1,2,...,9) @=You 7w 542 £70.0027

DEN20-7N



